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Area of doors &e=1387}§ 8q. ft.; ..area to bo paperod==
77683 sq. ft.° .

Area of 1 pieco=172 sy ft. ]

~ numbor of rolls=77533+72=103233.

A’s income=40 x 13§ x 5=8192 '30}3.

A’s proceeds=4000 x }§3=83923-07 /g

DB’s mcomo=40 x 1(?(1..—.:3161'(:1,75. ) N

B’s proceods=4000 x §§=54307 *69,%.

9 mos.=jyr., 3 mos.=3yr.

Int. for 9 mos. @ 8%=g} . discount=7%, atnd P. w.=gg.

Int. for3 ¢ & o discount =y, and P. W.=2Y.

13.

14

. 50 50 1 1y 8000
. g:‘.m-_—~80(51—53)=4000(61- 53) =ix0l
~ogain % 8000100 _1000_ 37 nearly=almost §%

°Tb3x61x80 2703
16. If 76 shares represont the property, tho farms will bo ropre-
. sented by 33, 24, 18 shares respectively ; each son should therefore
got 26 shares. Hence .1 must pay Bone and C seven shares i.e. o5
and ¢ of 82000 respectively, or $26:663 to B and $186-663 to C.

. ARITHMETIC.
Examiner—J. B. SoMERseT, Esq.
"I;mn—TJmBB Hours—THirp Crass.

. e 3.5 2 73-B} . ... .

1. Simplify 5% 3\)&' 1605 * 064743689

2. Bought 6 cwt. 3 qus. 21 ibs. of sugar, at £2 1Gs, per ewt., for
which Iam to pay two-thirds cagh and the balance in soap at 44d. per
1b. What do I pay in money and how many lbs of soap ?

3. At what time after half past 3 o’clock will the two hands meer
for the first time?

4, A person performs £ of a piece of work in 11 days, he then
receives assistance from another person and they finish it in 4 days.
In what time could each do it by himself?

o aee ‘1234 % 4321—-01 ‘83 + 0416

5. Simplify 00181 810 and 00 %5 .

6. If brass be compused of 62 parts of copper and 31 parts of zinc,
what quantity of brass contains 4 lbs more of copper than of zine?

7. 2 acres of land are containec 1 field whose width is 2 chains
80 links. What is the length of the field?

8. A man left § of his property to his eldest son, g of the romain-
der to the younger son and the rest t. “is wife. Upon dividing it
was found that the eldest son had $750 more than the younger.
Find the share of each.

9. What sum must I lend for 10 mouths at 64 per cent. per an-
num, so that I may receive interest to the amount of §237.50?

10. If 50) men can excavate a basin 800 yards long, 500 yards
wide and 40 yards deep in 4 months, how many men will be re-

uired to excavate a basin 1,000 yds. long, 400 yds. wide and 50 yds.
3eep in 5 months?

snan HINTS AND RESULTS,
1. < s .

2. £12 u 1?35‘39.“10225; 346338 Ibs.
3. 214 min. after four,

4. 17¢ dys., and 2795 dys.

5. 9; 350,

6. 113 lbs,

7. 7 chains 143 links,

8. $1200, $450, $£270.

9 84.61y;. -

. . '| 5-
10. 800 x 500 x 10=1000 x 409 % 10 ... same number, 500.

ALGEBRA.
Examiner—A. Dawsorn, M. AL
Toe—TaRreE Hours.—First Crass.

1. Investigate a rule for finding the G.C.M. of two algebraical
expressions, explaining when and why a factor' can be introduced or
suppressed.

. a‘fatattat
Find the G.C.31. of { 4TE7H
2. Find the sum of the product of the roots of the equation
@ttt d !
W_}lx)(lm ;\rill'the roots be real and difforent, real and equal, or im-
possible

Forn the equation whose roots aro
»=Ya and P+ 1

rq rq
3. A triangular picco of ground contains 210 square feot and two
of tho sides aro 18 und 26 feet respectively, Find tho remaining

side.
4 I $=S28 rovedll B4
S A Al S BT

Find the square root of 334126

. 5. Defino the Harmonical mean between two quantities.

The sum of three numbers in Harmoitical Progression is 33 and
their continued product is 972. Find the numbers.

6. Prove that the Arithmotical, Geometrical and Harmonical
means between a and b aro in order of magnitude, the arithmetical
mean boiny the greatest.

PARI

+ .
Show thatp = o o= (M=p 1)+ —p+2)+ (p-p+3)+ top

torms.
7. If $400 pay 10 men for 10 weeks’ work, for how many weoks
will §5640 pay 6 men?
8. If ayz-+by y-4cy 2=0
azx+by y4-cp 2=0

Shew that = — -
. 163=b, ¢, ¢ up—c;a, ayby-azh,
Eliminate « and y from 242 y—c=0
22— y+b=0
z+ y—a=0
9. The number of combinations of . things taken n— 1 together
is equal to the number of them taken » together.
Find the number of combinations that can be mado out ofsthe
letters in the word binomial taken 3 together.

10. Extract the square root of 14’42 (1—2?) Vx48z -
Shew that 3/ 5=1+ §—184-330 — 24401 &e.
SOLUTIONS.

1. The ordinary process of finding the G.C.}. of two expressions
consists in continuously taking the difference between multiples
of the given (huantities. It depends on the fact that every measure
of  and y will measure mad-ny where m and n are any multiples
whatover. In practice however it paves Jabor to restrict m and n

o whole numbers. For the nearést method of conducting the
operation seo McLellan’s *‘TEAcHERS' HANDBOOK OF ALGEBRA.”

Ans. a?-az4-z2

2. Sum=-p, product=gq.

Roots s»a real and different, real and equal, or impossible accord-
ing as p*>, =, or<dq.

Ans. plg? - 2p%qr4-p*q?=0,

3. 210°=s(s—a)(s—b)(s—c), where s=a+-b+c, and a, b and c are
the sides. Given a==18, ==25, whence by substitution we get c.

4. Book-work. _ Ans /3 (2y/2%y/3).
b. Book-work. Let a, a2a

and b be the numbers,

+b
- Zab 22?07 .
o ((l + b)+m—33 andm—!ﬁz
2ab

whence a=6, b=18, anda-—b=9.

6. Book-work. - .
An A, P. First term=(p?*—p+1) com. difference=1, number of

terms=p .. sum=[2(p%—p+1)+(p- 1)(1)15

3
qﬂ#l_ _121._*_%' .

7. Ans. 15 wéoks,

8. Multiply /1) by a,, (2) by a,, subtract, transpose, and divide
and L me— = (by symmetry) S — :

Ay — Ay Cs  @jbo —aoby byeg-baey
Add (2) and (3).a0d z==} (a—b)

Subtract (3)from (1) and y= c—a.

9. Whenever a set of = things is. selected from n things, there is
loft a sot of n—r things. . .
% We have 8 lettors of which 2 are alike. The 6 different lettera.
may be combined two and two in &3¢ different ways = 16 and be-




